Assignment # 3
Q.
Let us assume that you are working as a project manager in a multinational company. You were asked to compute the earned value analysis of a software project. The software project has 80 planned work tasks that are estimated to require 690 person-days to complete. At the time you have been asked to do the earned value analysis, 12 tasks have been completed. However, the project schedule indicates that 17 tasks should have been completed. The following scheduling data in person-days are available:


	        Task
	   Planned Effort
	 Actual Effort

	1
	14
	12.5

	2
	12
	13

	3
	11
	11

	4
	10
	9.5

	5
	9
	9

	6
	8
	9

	7
	12
	12

	8
	4
	5

	9
	7
	7.5

	10
	13
	12.5

	11
	6
	6

	12
	8
	

	13
	9
	

	14
	15
	

	15
	11
	

	16
	5
	

	17
	6
	


Compute the following

· SPI
· Schedule variance
· Percent scheduled for completion
· Percent complete
· CPI
· Cost variance for the project.
Solution

To find the required values for the project, we have to find the BCWS, BCWP, and ACWP 

Budgeted Cost of Work Schedule (BCWS):

It is the budgeted cost of all those tasks at the time when you have been asked to do the earned value analysis. Here we are calculating EVA at task no. 17 (17th task in schedule)

BCWS = 14+12+11+10+9+8+12+4+7+13+6+8+9+15+11+5+6 = 160

Budgeted Cost of Work Product (BCWP):

The cost/ effort allocated in schedule on tasks that have been so far (at the time where we are calculating EVA). Here this is 12.

BCWP = 14+12+11+10+9+8+12+4+7+13+6+8 = 114
Budget at Completion (BAC):
This is the total effort required to complete the project. It is given in the assignment question.
BAC = 690
Actual Cost of Work Performed (ACWP):
This is the actual effort/ cost incurred on completing a task. So completing the total task at a particular time requires adding all the ACWP values of each completed tasks. Here we have 10 completed tasks.
ACWP = 12.5+13+11+9.5+9+9+12+5+7.5+12.5+6+8 = 115
Now we can calculate the required values. This will give us an idea about the progress of the project that how it is progressing? Is the project progressing according to schedule or not? 

Schedule Performance Index (SPI) = BCWP/ BCWS
= 114/160= 0.7
Schedule Variance (SV) = BCWP – BCWS 
     = 114-160= -46
-ve SV indicates that project is behind schedule.

Percent Schedule for Completion = BCWS/BAC

= 160/690




            = 0.23
Percent Complete= BCWP/ BAC



      = 114/690


      = 0.16
Cost Performance Index (CPI)

      = BCWP/ ACWP




      = 114/115



      = 0.99

Cost Variance
 = BCWP – ACWP



 = 114 – 115 = -1

-ve CV indicated that the project is over budget.
ution

Assignment # 4

Assignment

Assume you are a Project Manager of a company named Softech and you have been asked to compute earned value analysis for a software project.  The project has 50 planned work tasks that are estimated to require 510 person-days to complete.  At the time that you have been asked to do the earned value analysis, 10 tasks have been completed.  However, the project schedule indicates that 12 tasks should have been completed.  The following scheduling data (in person-days) are available:

	Task
	Planned Effort
	Actual Effort

	1
	11
	10.5

	2
	15
	12

	3
	14
	17

	4
	8
	11.5

	5
	10
	9

	6
	18
	19

	7
	10
	10

	8
	4
	5

	9
	12
	10

	10
	6
	5

	11
	6
	

	12
	14
	


Compute the SPI, schedule variance, percent scheduled for completion, percent complete, CPI, and cost variance for the project.

Solution

To find the required values for the project, we have to find the BCWS, BCWP, ACWP 

Budgeted Cost of Work Schedule (BCWS): It is the budgeted cost of all those tasks at the time when you have been asked to do the earned value analysis. Here we are calculating EVA at task no. 12 (12th task in schedule)

BCWS = 11+ 15+ 14 + 8 +10 +18 + 10 + 4 + 12 + 6 + 6 + 14 = 128

Budgeted Cost of Work Product (BCWP) = The cost/ effort allocated in schedule on tasks that have been so far (at the time where we are calculating EVA). Here this is 10.

BCWP = 11+ 15+ 14 + 8 +10 +18 + 10 + 4 + 12 + 6 = 108

Budget at Completion (BAC): This is the total effort required to complete the project. It is given in the question.
BAC = 510

Actual Cost of Work Performed (ACWP): This is the actual effort/ cost incurred on completing a task. So completing the total task at a particular time requires adding all the ACWP values of each completed tasks. Here we have 10 completed tasks.
ACWP = 10.5 + 12 + 17 + 11.5 + 9 + 19 + 10 + 5 + 10 + 5= 109
Now we can calculate the required values. This will give us an idea about the progress of the project that how it is progressing? Is the project progressing according to schedule or not? 

Schedule Performance Index (SPI) = BCWP/ BCWS= 108/128= 0.8

Schedule Variance= SV= BCWP – BCWS = 108-128= -20

-ve SV indicates that project is behind schedule.

Percent Schedule for Completion = BCWS/BAC





         = 128/510





         = 0.25

The value of the Percent Schedule for Completion shows that according to schedule, 25 % of the total work should have been completed.



Percent Complete= BCWP/ BAC



      = 108/ 510



      = 0.21

Percent Complete shows that actually 21 percent of the task has been completed. So we are 4 % behind the schedule.

Cost Performance Index= CPI= BCWP/ ACWP




      = 108/ 109




      = 0.99

Cost Variance = BCWP – ACWP



 = 108 – 109 = -1

-ve CV indicated that the project is over budget.
